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Q1 Plasticity solutions

32 attempts, Average mark 15.3/20 A relatively straightforward question on upper and lower bound plasticity
solutions in clay which was in general answered well by most candidates with several perfect scores.
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Q2 V-H loading on shallow foundation

29 attempts, Average mark 10.5/20
This question had many very good answers but also many that were substantially incomplete, probably
because of time, reducing the average mark substantially. Many candidates chose to make life hard for
themselves by calculating from first principles, often successfully but at the expense of time taken. The
most common errors were forgetting that the foundation could also fail in sliding (in part ¢) and not
calculating both principal stress and orientation in parts b and d.
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This question had many very good answers but also many that were substantially incomplete, probably because of time, reducing the average mark substantially. Many candidates chose to make life hard for themselves by calculating from first principles, often successfully but at the expense of time taken. The most common errors were forgetting that the foundation could also fail in sliding (in part c) and not calculating both principal stress and orientation in parts b and d.
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Q3 Compaction and consolidation

33 attempts, Average mark 13.3/20
Overall, students answered correctly the initial questions on compaction in large proportion. Most
students that actually attempted the second part of the question on consolidation also produced
credible answers or good attempts. Low scores are associated with blank answers, rather than major
mistakes in any section. Most students demonstrated sufficient competence in both subjects included
in the question as indicated by the relatively good average score.
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Q4  Soil characterisation

32 attempts, Average mark 12.6/20 Students seemed to be surprised by the question on
Atterberg limits, with a good number of them leaving the two questions blank, or making very little
progress. Generally, students answered the relatively straightforward questions in part ¢) and d) well.
Most students identified the issues with the estimates of amount of settlements and time for settlement
to occur and were able to propose reasonable mitigation strategies. Overall, the students answered
quite competently.
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